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[ 7,041,650
Il 346,480
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H 2,000,000
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= 94,605
[ 7,041,650
Jl 346,480
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= 708,000
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SME L

33 N93H=4
el REMY X Y XM (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdSAE 243t XA(22E) 13,000
308 AXIMSOIA 15,000 15,000
01 XN BSELES 15,000 15,000
OGTAl HSAE & Ay SdaH(EF
o) 15,000
403 AXIEHHSAH=201H 770,000 10,000 760,000
01 XIS A=E £ 770,000 10,000 760,000
OHEANE S8 =4 300,000
OHSANE A& X2+ 470,000
20244 SHHLEAIE EXIA 94,080 94,080 0
Il 94,080
403 XIS A=201E 94,080 94,080 0
Jl 94,080
01 A= 2L 94,080 94,080 0
O=FIHLEAIE EXIAHS 94,080
Il 94,080
0248 =M HHIAME 252,400 252,400 0
) 252,400
403 TR SHMSAH=01H 252,400 252,400 0
Jl 252,400
01 MHXIHH A 22X 252,400 252,400 0
O848 HHIAIE 252,400
Il 252,400
HEAE =t A 5,400,000 10,272,000 /4,872,000
[ 2,400,000
= 3,000,000
403 AXIEHMSAH=201H 5,400,000 10,272,000 A4,872,000
[ 2,400,000
= 3,000,000
01 AXISHHA2EE 5,400,000 10,272,000 A\4,872,000
OHSAY SEFAE 28 2,400,000
= 2,400,000
OHSAE U2 =XHE =4 3,000,000
HEANE F=XHEBNE AS(0IEEX) 36,000 0 36,000
= 36,000
308 AtXIEMSOIE 36,000 0 36,000
[ 36,000
01 XN BSELES 36,000 0 36,000
OHEANE SE=IY 082X 36,000
= 36,000
dEH3 632,500 0 632,500
s 632,500
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el REMY X Y XM (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 632,500 0 632,500
= 632,500
01 AXEH B EES 632,500 0 632,500
OdHEds7A(SF 2UYA) 632,500
[ 632,500
StoHE & SENHEN EE 191,175 173,095 18,080
2 94,605
= 96,570
308 AFAIEHMSOIE 191,175 163,965 27,210
= 94,605
= 96,570
01 AXEH B2 LS 191,175 163,965 27,210
OFeAgA 24t At 157,675
= 94,605
== 63,070
O2JtEAM BLIH % 2Z 33,500
AHAHAASE st 102,500 100, 157 2,343
AH|MEMEH2E 35,000 33,357 1,643
307 21201 & 35,000 30,357 4,643
02 QB AANSEER 35,000 0 35,000
OFEZEE AHIX 4EXE 24 36,000
2HITHEH SEXIE 54,000 54,000 0
307 elztol & 54,000 54,000
02 LB HAHE L 54,000 54,000
OFLAS AHINES L NE A 54,000
2HIAHA S K& 13,500 12,800 700
307 elzto| & 13,500 6,500 7,000
04 QIZHHAIAIH 2 £ 13,500 6,500 7,000
Os&EIE AHIAHE 13,500
ARl HBHM 2dst 9,253,562 17,835,270 A\8,581,708
[ 3,973,150
= 2,512,412
H 2,000,000
= 708,000
ARIEZH D1EE 24 85,000 36,378 48,622
201 er23| 35,000 13,813 21,187
01 At2teltl 35,000 13,813 21,187
OMSHBMEOF E2R =8 S 35,000
308 AXIMSOIA 50,000 20,000 30,000
01 HAHHBSEEXS 50,000 20,000 30,000
OAIHIIXl #tets ?igt 34 230t &
p 20,000
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Sl ARIREN 245t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAMRIRZ R St0te AL 12,000
OMBIFIIXINERE B2t 4 o 2
g 18,000
S AMHBNA2HEH 23 810,000 810,000 0
307 21201 & 810,000 810,000
05 git?(& = 810,000 810,000
OsY AAHIMAALEH 29 810,000
0201 LS S R (HEAY) 474,000 474,000 0
307 lztol & 474,000 474,000
05 2IMRIE =3 474,000 474,000
OSSN 2|12 ALE At 474,000
AR HZH HEAD = 65,000 60,600 4,400
307 elzto| & 30,000 30,000 0
02 2IZHBYAIHE A 30,000 30,000 0
OZ9 UERT =& |4 N 30,000
308 AtXIEHMSOIE 35,000 30,600 4,400
01 AXEH B EES 35,000 30,600 4,400
OAlZ UERZ =& |4 X 36,000
2| EFEAY 2,630,100 4,752,000 A2,121,900
s 2,391,000
s 239,100
308 AHXIEMSOIH 2,630,100 4,752,000 A2,121,900
= 2,391,000
[ 239,100
01 HXHHBAEES 2,630,100 4,752,000 A2,121,900
O(MENAEI =D Y LRteIEE 2,630,100
[ 2,391,000
= 239,100
AOHEHl X2 150,000 570,000 420,000
308 AHXIHMSO0IA 150,000 570,000 420,000
01 RSN B EES 150,000 570,000 420,000
O(CIHAFRI =12 AFOHEH] IR ALY 150,000
AEEH K& 54,000 99,500 45,500
403 AXIEHHSAH=0lH 54,000 74,000 220,000
01 A= 2L 54,000 74,000 220,000
O(CIENAIZI =Y AIZZH] XA 54,000
0=J18 =4 219,700 749,492 Ab29,792
[ 169,000
= 50,700
308 AtXIEHMSOIE 219,700 741,000 /521,300
[ 169,000
= 50,700
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NEEEVIEEES

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 HXSHH B E2ES 219,700 741,000 /521,300
o)1y |4 219,700
= 169,000
< 50,700
AR EHZH HHEZ X 250,000 176,000 74,000
308 AXIHMSOIA 250,000 0 250,000
18 SIS B XA AIE 250,000 0 250,000
OAlIHZHDIE =& " 22 X 250,000
ARIHBH FEeXte x4 45,762 0 45,762
= 33,180
=S 12,612
308 XXM SOIH 45,762 0 45,762
= 33,150
== 12,612
01 MRESHH B EES 45,762 0 45,762
OABI XM HHEE(live in CN) XIZA 45,762
= 33,150
< 12,612
ARl HBH SalElE =4 4,470,000 8,790,000 /4,320,000
[ 1,380,000
= 382,000
H 2,000,000
= 708,000
401 AlZHIZ S0 4,470,000 8,790,000 /4,320,000
= 1,380,000
== 382,000
H 2,000,000
= 708,000
01 A28l 3,740,000 8,090,000 4,350,000
OAI B sdlEtz &9 Atg 3,740,000
[ 1,210,000
= 46,000
H 2,000,000
= 484,000
02 Zeltl 720,000 690,000 30,000
OAt2I XM sldlEte =4 Al 720,000
= 165,000
== 333,000
= 222,000
03 Al£ = THHI 10,000 10,000 0
OAt2I XM sldlEte =4 Al 10,000
= 5,000
== 3,000
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